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funsZ’k%&funsZ’k%&funsZ’k%&funsZ’k%& lHkh iz’u gy dhft,AlHkh iz’u gy dhft,AlHkh iz’u gy dhft,AlHkh iz’u gy dhft,A

i z’ u  Ø e k ad  1  l s 6  r d  v f r  y ? k qm R r j h ;  i z’ u  g SA  i zR ; sd  i z’ u  i j  2  v ad

v k c af V r  g SA  m R r j  d h  v f / k d r e  ’ k C n  l h e k & 3 0  ’ k C n  g SA  i z’ u  Ø e k ad  7  l s

1 2  r d  y ? k qm R r j h ;  i z’ u  g SA  i zR ; sd  i z’ u  i j  3  v ad  v k c a f V r  g SA  m R r j  d h

v f / k d r e  ’ k C n  l h e k & 5 0  ’ k C n  g SA  i z’ u  Ø e k ad  1 3  l s 1 7  r d  y ? k qm R r j h ;

i z’ u  g SA  i zR ; sd  i z’ u  i j  4  v ad  v k c af V r  g SA  m R r j  d h  v f / k d r e  ’ k C n

l h e k & 7 5  ’ k C n  g SA  i z’ u  Ø e k ad  1 8  l s 2 2  r d  n h ? k Zm R r j h ;  i z’ u  g SA  i zR ; sd

i z’ u  i j  5  v ad  v k c af V r  g SA  m R r j  d h  v f / k d r e  ’ k C n  l h e k & 1 5 0  ’ k C n  g SA

Instruction: All Questions are compulsory.

Question Nos. 1 to 6 are very short ansswer type questions. Each question

carries 2 marks. Maximum word limit of answer is 30 words. Questions

Nos. 7 to 12 are short answer type questions. Each question carries 3

marks. Maximum word limit of answer is 50 words. Question Nos. 13 to

17 are short answer type question. Each question carries 4 marks.

Maximum word limit for answer is 75 words. Question Nos. 18 to 22 are

long answer type questions. Each question. Carries 5 marks. Maximum

word limit of answer-150 words.

iz’u 1&iz’u 1&iz’u 1&iz’u 1& fcUnqL=ko D;k gS \fcUnqL=ko D;k gS \fcUnqL=ko D;k gS \fcUnqL=ko D;k gS \ 02020202

What is Guttation ?

iz’u 2&iz’u 2&iz’u 2&iz’u 2& ew= dk jax ihyk D;ksa gksrk gS \ew= dk jax ihyk D;ksa gksrk gS \ew= dk jax ihyk D;ksa gksrk gS \ew= dk jax ihyk D;ksa gksrk gS \ 02020202

Why colour of urine is pale yellow ?

iz’u 3&iz’u 3&iz’u 3&iz’u 3& ’kqØk.kq dk fuekZ.k fdl fof/k ls gksrk gS \’kqØk.kq dk fuekZ.k fdl fof/k ls gksrk gS \’kqØk.kq dk fuekZ.k fdl fof/k ls gksrk gS \’kqØk.kq dk fuekZ.k fdl fof/k ls gksrk gS \ 02020202

d{kk%&d{kk%&d{kk%&d{kk%& 12 oha12 oha12 oha12 oha

fofofofo""""k;%&k;%&k;%&k;%& tho foKkutho foKkutho foKkutho foKku
le;%&le;%&le;%&le;%& 3 ?k.Vs3 ?k.Vs3 ?k.Vs3 ?k.Vs
iw.kk Zd%&iw.kk Zd%&iw.kk Zd%&iw.kk Zd%& 7 57 57 57 5

Class:- 12th

Subject:- Biology
Time:- 3 Hours
Maximum Marks :-  75

1
NRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqj

gk;j lsds.Mjh lfVZfQdsV ijh{kk ogk;j lsds.Mjh lfVZfQdsV ijh{kk ogk;j lsds.Mjh lfVZfQdsV ijh{kk ogk;j lsds.Mjh lfVZfQdsV ijh{kk o""""kZ 2008&09kZ 2008&09kZ 2008&09kZ 2008&09

ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=  (Model Question Paper)
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By which process, Sperm is formed ?

iz’u 4&iz’u 4&iz’u 4&iz’u 4& o;rk D;k gS \o;rk D;k gS \o;rk D;k gS \o;rk D;k gS \ 02020202

What is Ageing ?

iz’u 5&iz’u 5&iz’u 5&iz’u 5& “ ,d thu ,d ,Utkbe,d thu ,d ,Utkbe,d thu ,d ,Utkbe,d thu ,d ,Utkbe”  ifjdYiuk fdlus izLrqr dhA ifjdYiuk fdlus izLrqr dhA ifjdYiuk fdlus izLrqr dhA ifjdYiuk fdlus izLrqr dhA 02020202

Who propounded “one gene one engyme Hypothesis ?

iz’u 6&iz’u 6&iz’u 6&iz’u 6& fo’o ,M~l fnol dc vkSj D;ksa euk;k tkrk gS \fo’o ,M~l fnol dc vkSj D;ksa euk;k tkrk gS \fo’o ,M~l fnol dc vkSj D;ksa euk;k tkrk gS \fo’o ,M~l fnol dc vkSj D;ksa euk;k tkrk gS \ 1$11$11$11$1

When and why “world AIDS day” is observed ?

iz’u 7&iz’u 7&iz’u 7&iz’u 7& pØh; QksVks QkLQksfjys’ku dks LipØh; QksVks QkLQksfjys’ku dks LipØh; QksVks QkLQksfjys’ku dks LipØh; QksVks QkLQksfjys’ku dks Li""""V dhft;sAV dhft;sAV dhft;sAV dhft;sA 1½+1½

Explain cyclic photophosphorylation.

iz’u 8&iz’u 8&iz’u 8&iz’u 8& gheksMk;fyfll fdls dgrs gSa \ blds egRo fyf[k,AgheksMk;fyfll fdls dgrs gSa \ blds egRo fyf[k,AgheksMk;fyfll fdls dgrs gSa \ blds egRo fyf[k,AgheksMk;fyfll fdls dgrs gSa \ blds egRo fyf[k,A 1$21$21$21$2

What is Haemodialysis ? Write its importance.

iz’u 9&iz’u 9&iz’u 9&iz’u 9& lw{ekadqj D;k gS \ ;s dgka ik;s tkrs gSa] ,oa buds D;k dk;Z gS\ 1$1$1lw{ekadqj D;k gS \ ;s dgka ik;s tkrs gSa] ,oa buds D;k dk;Z gS\ 1$1$1lw{ekadqj D;k gS \ ;s dgka ik;s tkrs gSa] ,oa buds D;k dk;Z gS\ 1$1$1lw{ekadqj D;k gS \ ;s dgka ik;s tkrs gSa] ,oa buds D;k dk;Z gS\ 1$1$1

What is villi ? Where they are found and what is their functions ?

iz’u 10&iz’u 10&iz’u 10&iz’u 10& euqeuqeuqeuq"; ds v.Mk’k; ds vuqizLFkdkV dk dsoy ukekafdr fp= cukb;s"; ds v.Mk’k; ds vuqizLFkdkV dk dsoy ukekafdr fp= cukb;s"; ds v.Mk’k; ds vuqizLFkdkV dk dsoy ukekafdr fp= cukb;s"; ds v.Mk’k; ds vuqizLFkdkV dk dsoy ukekafdr fp= cukb;s \ \ \ \

Draw a well labelled diagram of T.S. of human ovary. 1+1+1

iz’u 11&iz’u 11&iz’u 11&iz’u 11& ’kqØtuu ,oa v.Mtuu esa dksbZ 3 vUrj fyf[k, A’kqØtuu ,oa v.Mtuu esa dksbZ 3 vUrj fyf[k, A’kqØtuu ,oa v.Mtuu esa dksbZ 3 vUrj fyf[k, A’kqØtuu ,oa v.Mtuu esa dksbZ 3 vUrj fyf[k, A 03030303

Write any three differencess between Spermatogenesis and Oogenesis.

vFkok vFkok vFkok vFkok (OR)

'kqØtuu ,oa v.Mtuu esa dksbZ 3 lekurk,a fyf[k, A'kqØtuu ,oa v.Mtuu esa dksbZ 3 lekurk,a fyf[k, A'kqØtuu ,oa v.Mtuu esa dksbZ 3 lekurk,a fyf[k, A'kqØtuu ,oa v.Mtuu esa dksbZ 3 lekurk,a fyf[k, A

Write any three similarties between Spermatogenesis and Oogenesis.

iz’u 12&iz’u 12&iz’u 12&iz’u 12& jrutksr ,oa lQsn ewlyh dk vkSjrutksr ,oa lQsn ewlyh dk vkSjrutksr ,oa lQsn ewlyh dk vkSjrutksr ,oa lQsn ewlyh dk vkS""""k/kh; egRo fyf[k,Ak/kh; egRo fyf[k,Ak/kh; egRo fyf[k,Ak/kh; egRo fyf[k,A 1½+1½

Write the medicinal importance of Jetropha and White Raddish (Safed

Musli)
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vFkok vFkok vFkok vFkok (OR)

Write the name of three species of honeybee. (one each 1x 3=3)

iz’u 13&iz’u 13&iz’u 13&iz’u 13& euqeuqeuqeuq"; dh Ropk dh [kM+h dkV dk Li"V ukekafdr fp= cukb;sA 1$1$2"; dh Ropk dh [kM+h dkV dk Li"V ukekafdr fp= cukb;sA 1$1$2"; dh Ropk dh [kM+h dkV dk Li"V ukekafdr fp= cukb;sA 1$1$2"; dh Ropk dh [kM+h dkV dk Li"V ukekafdr fp= cukb;sA 1$1$2

Draw a well labelled diagram of V.S. of human skin.

iz’u14&iz’u14&iz’u14&iz’u14& izfrorhZ fØ;k ls vki D;k le>rs gks] bl fØ;k dks mnkgj.k lfgr LiizfrorhZ fØ;k ls vki D;k le>rs gks] bl fØ;k dks mnkgj.k lfgr LiizfrorhZ fØ;k ls vki D;k le>rs gks] bl fØ;k dks mnkgj.k lfgr LiizfrorhZ fØ;k ls vki D;k le>rs gks] bl fØ;k dks mnkgj.k lfgr Li"V"V"V"V

dhft,Adhft,Adhft,Adhft,A         1+1½+1½

What do you mean by reflex action ? Explain it with the example.

iz’u15&iz’u15&iz’u15&iz’u15& vkuqvkuqvkuqvkuqokaf’kdrk fdls dgrs gSa \ es.My ds vuqokaf’kdrk ds fu;e fyf[k,Aokaf’kdrk fdls dgrs gSa \ es.My ds vuqokaf’kdrk ds fu;e fyf[k,Aokaf’kdrk fdls dgrs gSa \ es.My ds vuqokaf’kdrk ds fu;e fyf[k,Aokaf’kdrk fdls dgrs gSa \ es.My ds vuqokaf’kdrk ds fu;e fyf[k,A

What is called heredity ? Write the mendal’s laws of inheritance. 1+1+1+1

iz’u16&iz’u16&iz’u16&iz’u16& Mh-,u-,- dh lajpuk dk LiMh-,u-,- dh lajpuk dk LiMh-,u-,- dh lajpuk dk LiMh-,u-,- dh lajpuk dk Li"V ukekafdr fp= cukb;s"V ukekafdr fp= cukb;s"V ukekafdr fp= cukb;s"V ukekafdr fp= cukb;sAAAA

    Draw a well labelled diagram of the structure of D.N.A.

vFkok vFkok vFkok vFkok (OR)

euqeuqeuqeuq"; esa fyax fu/kkZj.k dh izfØ;k dks js[kkfp= dh lgk;rk ls Li"V"; esa fyax fu/kkZj.k dh izfØ;k dks js[kkfp= dh lgk;rk ls Li"V"; esa fyax fu/kkZj.k dh izfØ;k dks js[kkfp= dh lgk;rk ls Li"V"; esa fyax fu/kkZj.k dh izfØ;k dks js[kkfp= dh lgk;rk ls Li"V

dhft,Adhft,Adhft,Adhft,A 04040404

Explain Sex determination process in human being with the help of

diagram.

iz’u 17&iz’u 17&iz’u 17&iz’u 17& ’olu dk raf=dh; ,oa jklk;fud fu;eu crkb;sA’olu dk raf=dh; ,oa jklk;fud fu;eu crkb;sA’olu dk raf=dh; ,oa jklk;fud fu;eu crkb;sA’olu dk raf=dh; ,oa jklk;fud fu;eu crkb;sA 2$22$22$22$2

Explain the nervous and chemical regulation of the respiration.

vFkok vFkok vFkok vFkok (OR)

ifjlapj.k ra= ds dksbZ pkj dk;Z fyf[k,Aifjlapj.k ra= ds dksbZ pkj dk;Z fyf[k,Aifjlapj.k ra= ds dksbZ pkj dk;Z fyf[k,Aifjlapj.k ra= ds dksbZ pkj dk;Z fyf[k,A

Write any four functions of blood circulatory system.

iz’u 18&iz’u 18&iz’u 18&iz’u 18& vkuqokaf’kd vfHk;kaf=dh fdls dgrs gS a] blds vkS/kksfxd ,oa fpfdRlk dsvkuqokaf’kd vfHk;kaf=dh fdls dgrs gS a] blds vkS/kksfxd ,oa fpfdRlk dsvkuqokaf’kd vfHk;kaf=dh fdls dgrs gS a] blds vkS/kksfxd ,oa fpfdRlk dsvkuqokaf’kd vfHk;kaf=dh fdls dgrs gS a] blds vkS/kksfxd ,oa fpfdRlk ds

{ks= esa ;ksxnku dks Li{ks= esa ;ksxnku dks Li{ks= esa ;ksxnku dks Li{ks= esa ;ksxnku dks Li""""V dhft,AV dhft,AV dhft,AV dhft,A     1$2$2    1$2$2    1$2$2    1$2$2
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What is called Genetic engineering ? Give its contribution in the field of

industries and medical.

iz’u 19&iz’u 19&iz’u 19&iz’u 19& lksysuslh dqy ds fdlh ,d iqlksysuslh dqy ds fdlh ,d iqlksysuslh dqy ds fdlh ,d iqlksysuslh dqy ds fdlh ,d iq"i dk rduhdh Hkk"kk esa o.kZu dhft,] rFkk"i dk rduhdh Hkk"kk esa o.kZu dhft,] rFkk"i dk rduhdh Hkk"kk esa o.kZu dhft,] rFkk"i dk rduhdh Hkk"kk esa o.kZu dhft,] rFkk

bl iq"i dk iq"i lw= ,oa iq"i vkjs[k Hkh cukb;s \bl iq"i dk iq"i lw= ,oa iq"i vkjs[k Hkh cukb;s \bl iq"i dk iq"i lw= ,oa iq"i vkjs[k Hkh cukb;s \bl iq"i dk iq"i lw= ,oa iq"i vkjs[k Hkh cukb;s \     2$1$2    2$1$2    2$1$2    2$1$2

Explain about any one flower of the family "solanaceae" in semitechnical

language.  Write its floral formula and floral diagram.

iz’u 20&iz’u 20&iz’u 20&iz’u 20& uku es.Msfy;u o’kkaxfr fdls dgrs gS \ bls viw.kZ izHkkfork rFkk lgizHkkforkuku es.Msfy;u o’kkaxfr fdls dgrs gS \ bls viw.kZ izHkkfork rFkk lgizHkkforkuku es.Msfy;u o’kkaxfr fdls dgrs gS \ bls viw.kZ izHkkfork rFkk lgizHkkforkuku es.Msfy;u o’kkaxfr fdls dgrs gS \ bls viw.kZ izHkkfork rFkk lgizHkkfork
}kjk Li}kjk Li}kjk Li}kjk Li""""V dhft,AV dhft,AV dhft,AV dhft,A    1$2$2   1$2$2   1$2$2   1$2$2

What is called non mendalian inheritance ? Explain it with the help of

incomplete dominance and co-dominance.

vFkok vFkok vFkok vFkok (OR)

vkuqokaf’kd dksM D;k gS \ blds pkj y{k.k crkb;s \vkuqokaf’kd dksM D;k gS \ blds pkj y{k.k crkb;s \vkuqokaf’kd dksM D;k gS \ blds pkj y{k.k crkb;s \vkuqokaf’kd dksM D;k gS \ blds pkj y{k.k crkb;s \ 1$41$41$41$4

What is genetic code ? Write its four characteristics ?

iz’u 21&iz’u 21&iz’u 21&iz’u 21& ØsCl pØ fdls dgrs gS \ bls js[kkfp= }kjk le>kb,AØsCl pØ fdls dgrs gS \ bls js[kkfp= }kjk le>kb,AØsCl pØ fdls dgrs gS \ bls js[kkfp= }kjk le>kb,AØsCl pØ fdls dgrs gS \ bls js[kkfp= }kjk le>kb,A 1$41$41$41$4

What is Kreb’s Cycle ? Explain it with ray diagram.

vFkok vFkok vFkok vFkok (OR)

Xykbdksfyll D;k gS \ bls js[kkfp= }kjk LiXykbdksfyll D;k gS \ bls js[kkfp= }kjk LiXykbdksfyll D;k gS \ bls js[kkfp= }kjk LiXykbdksfyll D;k gS \ bls js[kkfp= }kjk Li"V dhft, \"V dhft, \"V dhft, \"V dhft, \ 1$41$41$41$4

What is Glycolysis ? Explain it with the help of ray diagram.

iz’u 22&iz’u 22&iz’u 22&iz’u 22& dqdqdqdq"B jksx fdlds }kjk gksrk gS \ bl jksx ds y{k.k ,oa jksdFkke ds mik;"B jksx fdlds }kjk gksrk gS \ bl jksx ds y{k.k ,oa jksdFkke ds mik;"B jksx fdlds }kjk gksrk gS \ bl jksx ds y{k.k ,oa jksdFkke ds mik;"B jksx fdlds }kjk gksrk gS \ bl jksx ds y{k.k ,oa jksdFkke ds mik;

crkb, \crkb, \crkb, \crkb, \    1$2$2   1$2$2   1$2$2   1$2$2

How Leprosy is caused ? Write the symptoms and control measures of

the diseases.

vFkok vFkok vFkok vFkok (OR)
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eysfj;k jksx ds dkj.k] y{k.k ,oa fu;a=.k ds mik; fyf[k, eysfj;k jksx ds dkj.k] y{k.k ,oa fu;a=.k ds mik; fyf[k, eysfj;k jksx ds dkj.k] y{k.k ,oa fu;a=.k ds mik; fyf[k, eysfj;k jksx ds dkj.k] y{k.k ,oa fu;a=.k ds mik; fyf[k, \   \   \   \   1$2$21$2$21$2$21$2$2

Write the causes, symptoms and control measures of the disease

“Malaria”?
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